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QUESTION ONE: Aggregate demand and aggregate supply

Graph One: AS/AD model of the New Zealand economy
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(a) Explain each shift (aggregate supply and aggregate demand curves) shown in Graph One, and
the impact on economic growth, due to the construction and operation of Te Kaha.
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Explain one disadvantage of using real GDP to measure economic growth.
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Compare and contrast the impact of opening Te Pae Christchurch Convention Centre on:

(i) Different regional growth rates in New Zealand.
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5
(i)  The distribution of income in the Christchurch area.
The Gve 450%;‘“5»« Qenemhal " H\e. p.’rsl(vm ok Opening Te Pae
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QUESTION TWO: Impacts of economic growth

Model One: Circular flow model

(a) Referring to Model One, identify three flows that will increase due to an increase in astrotourism.

Flow 1: Sxpor b Recoiphs
Flow2: Fadireet Taxes

Flow3: 1nCowme
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7
(b)

Choose one of the flows identified in (a) on page 6, and explain why it will increase.
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(c) Referring to Model One, explain why an overseas tourist visiting Lake Tekapo might increase
growth more than a domestic tourist.

An overcens fouay} Paay jacresse grov more be cause the hohey
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( Question Two continues on the next page » )
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Compare and contrast the impact of astrotourism on:

(i)

(ii)

Government revenue and expenditure.
Asl}of'v'v-i:h hm\'ﬂ‘ }hrms? SDVFHV\»&\" YeVehyu ¢ loeau}e as Pm&prj
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Lake Tekapo residents and businesses involved in the hospitality industry (food and
accommodation) in Lake Tekapo.

Theve 16 intruced demond (or hospibalhy slacesiy Lake Tekapo
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QUESTION THREE: Production possibility frontier

In February 2023, Cyclone Gabrielle caused extensive damage to roading, water, and
farming infrastructure. As climate change is linked to more common adverse weather
events, the ability of New Zealand’s infrastructure to cope with these weather events
has been questioned. When roads, bridges, and other infrastructure are damaged, New
Zealand’s productive capacity decreases.

(a) Explain why a weather event such as a cyclone leads to lower GDP. Include a definition of GDP
in your answer. 28 ihed

GBP 1.5 qrobs G’o%"lll. Du,’f"‘* VL:CI\ ) "Lt Va’k!.- g,-f‘"éwls MJ Sarvices S",J M qn
€Conoﬁ’3'4 'V/E(-H'\er' Q\'@h" IQ{J5 "U lcwt( Ebp Sh‘l(e He we’Conoh#/j

Ca]thefb +o P“"J‘*‘e Jr‘Le Good$ and Secvices Je orexe s, wh;c-L Lappb,af $ntl
‘H\(i Lgcln‘e, Cou SM{ o‘qm.,{, l‘b fhﬁ‘nS"VﬂC'Ar& $u£ as renj;u, ﬁ“r’r—w}tj, e‘u

One option is for the Government to increase taxes and use the funds to spend on
infrastructure projects that will help make New Zealand’s infrastructure more resilient to
these weather events.

On Graph Two below, point A represents the current combination of spending on consumer goods
and capital/infrastructure goods. Point B represents the combination of spending if the Government
increases taxes to fund spending on infrastructure.

Graph Two: Production possibility frontier

Consumer
goods

offor }um')‘g
A Cost

_— Capital / infrastructure goods
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(b) On Graph Two on page 10, label the opportunity cost of increasing taxes to fund infrastructure
spending.

(c) Referring to Graph Two, explain why there is an opportunity cost of increasing taxes to fund
infrastructure spending.

wLehgf-um-e Hn& BGWHH%’“ l‘mff’!a(ej Jrﬁxes, C ur’r‘u.?l CﬁhSuh-p‘}'llﬂlg, d’ccﬂasgg
From A 4o B. LCSS Qo Suwme goeJS Wil be tonsumpd .06 The PPE nodd
GLO"S ‘H"é PO')SI.L;}IJ{y @[ 7l1~v 3oon Le.}‘_a, PNJM.Q@L V‘mén TAC P‘“I"’l $aovis
fom A 1o 3 "Cap-"L‘*//}nfrale% 3ovJ5 i Crease , émt Me@&mm#
Led‘q”'en«a'hve ' lef} ﬁ("ohe(wnwmer 309045_.]-

Graph Three shows a future production possibility frontier (labelled X*) that occurs if the Government
does increase taxes to pay for infrastructure spending (point B).

Graph Three: Production possibility frontier

Consumer
goods X

3

y¥

Capital / infrastructure goods

(d) On Graph Three above, draw a future production possibility frontier (Y*) that occurs if New
Zealand operates at point A.

( Question Three continues on the next page » )
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Referring to Graph Three, explain why the future production possibility frontier (Y*) you have
drawn shows a level of potential capacity different from the future production possibility frontier
(X*) created by point B.
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Grade
score

Marker commentary

One

A4

The impact of the AS / AD shifts on economic growth was
explained, however an explanation of the shift of the AD curve
required a reference to one of the components of AD. The
candidate gave a clear disadvantage to using real GDP to measure
economic growth.

To move to a Merit grade further explanation of why growth in
Christchurch will be greater than Auckland and whether income
distribution will become more or less equal in the Christchurch
area would be needed.

Two

M6

The candidate gave a clear explanation of how export receipts
impact the circular flow model. The impact of astrotourism on
government revenue through indirect and income tax was
explained, as well as an impact on businesses and households.

To move to an Excellence grade, the candidate could have given a
judgement on whether the change in expenditure will be greater or
smaller than the change in revenue. In addition, the positive impact
to households could be explained, so that the overall impact on
households could be determined.

Three

M6

The candidate explained the impact of the cyclone on GDP. The
opportunity cost of increasing taxes was explained, however it was
not clearly labelled on the PPF model.

The impact of the two choices regarding taxation were shown on
the PPF model, and the candidate gave a detailed explanation of
the changes this would bring to productive capacity, with clear
references to the model.

To move to an Excellence grade, the context of natural disasters
and / or climate change could be integrated into the explanation.






